% @ ‘ ’ i I l Lose kvadratiske ligninger

StudentName: ExamDate: ExamScore:
10x* + 81x— 81 =0 X+ 7x—8=0

6x° + 49x — 45 = 0 4+ 27x—40 = 0

6x> — 29x+20 = 0 3%+ 17x—28 = 0

X +5x—14=0 6x° — 17x+10 = 0

X +2x-35=0 Tx* — 55x+42 =0
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%DP @ ‘ ’ i I l Lose kvadratiske ligninger

StudentName: ExamDate: ExamScore:
10x” + 81x—81 = 0 X+ 7x—8=0
9 x=1,-8
— — —9 D
ST
6x> +49x —45 =0 4 + 27x— 40 = 0
5 5
X = g, 9 X = Z, 8
6x> — 29x+20 = 0 32+ 17x—28 =0
5 4
= 4 == 7
X 6, X 3,
X +5x—14=0 6> — 17x+10=0
x=2 -7 5
’ =7
X 6,
¥ +2x—35=0 7> — 55x+42 =0
x=15 -7 6
; = =7
X 7,
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